Biology 111


In-class Exam #1 


September 16, 2016

For each question or statement select the best answer or completion. Mark your selections on a scantron form using a pencil. 

1. Science makes no attempt to answer questions about __________________.


a) the meaning of life, 
b) what is right and wrong
c) the nature of love 




d) the existence of God 

e) all of the above
2. The notion the Mother Theresa has acted from beyond the grave to cure people with seemingly incurable ailments violates what assumption of science?

a) uniformity of natural laws
b) common perception
c) spontaneous generation


d)the existence of God

e) natural causality 

3. Monarch butterflies that hatch in North Dakota spend the winter months in _______________________.

a) California

b) Florida

c) Texas
d) Mexico
e) Panama

4. Our belief that atoms of each element have the same properties in distant galaxies as they do here on earth is based on what assumption of science?

a) uniformity of natural laws
b) common perception
c) spontaneous generation


d)the existence of God

e) natural causality 

5. The finding that Helicobactor pylori infection plays a role in the development of peptic ulcers is an example of ____________.

a) natural science
b) discovery science
c) hypothetical science

d) astro science

e) biochemical science 

6. In the scientific method, hypothesis formation is followed by experiment(s) that test ___________________.

a) the conclusion 

b) predictions of the hypothesis 

c) the hypothesis 

d) timeliness of the hypothesis 
e) the observation
7. A widely accepted hypothesis that has been widely tested is called a __________________.
a) theory

b) fact

c) control
d) hypothesis
e) observation

8. The universe is believed to be mostly composed of the element _______.

a) Oxygen 
b) Hydrogen 
c) electron
d) proton
e) Helium

9. Like all living things, you are composed mostly of ___________________.

a) P, O, C
 
b) H, K, P 
c) N, O, H
d) O, C, H
e) Ca, He, Ne

10. The atomic number determines the number of ___________________ in the atoms of an element.

a) protons 
b) electrons
c) isotopes
d) neutrons
e) both a and b
11. Atoms with the same atomic number but different atomic mass are called__________.

a) protons 
b) electrons
c) isotopes
d) neutrons
e) both a and b

12. Carbon has an atomic number of six, therefore the number of neutrons in an atom of 14C must be ___________.

a) 2

b) 4

c) 6

d) 7

e) 8
13. Given a half-life of 5,730 years, a sample of pure 14C with a mass of 10 grams would weigh _______ gram(s) 11,460 years later.
a) 20

b) 10

c) 5

d) 2.5

 e) 1

14. Carbon dating is a technique that determines the time since death based on the ratio of ___________ in a sample.

a) 14N to 14C
b) 14C to 12C 
c) 14N to 12N
d) 12C to 13C 
e) 12N to 14N
15. The maximum electron capacity of successive atomic electron shells, beginning at the innermost, is...

a) 8,8,8,2

b) 2,4,2,4

c) 2,4,6,8,
d) 8,8,8,8

e) 2,8,8,8
16. With an atomic number of eight, O has how many electrons in its outer electron shell?
a) 2
b) 4
c) 6
 d) 8
 e) 10
17. An atom that has lost or gained an electron is called ___________________.

a) an isotope
b) an element
c) a neutron
d) an ion
e) a proton

18. Bonds formed between atoms in which electrons are shared are referred to as ______________ bonds.
a) ionic 
b) fast

c) covalent
d) hydrogen
e) tight

19. O-H and N-H bonds are _____________________bonds.

a) tight

b) Hydrogen  

c) ionic

d) non-polar covalent
e) polar covalent
20. The attraction between water molecules is called _____________________ bonds.

a) tight

b) Hydrogen  

c) ionic

d) non-polar covalent
e) polar covalent

21. Hydrophilic molecules that dissolve easily in water are rich in _____________________ bonds.
a) non-polar covalent


b) polar covalent 
c) ionic
 

d) non-polar covalent and ionic

e) polar covalent and ionic


22. Some molecules contain one end or part that is quite water soluble while the other end is not water soluble. The term for such molecules is_________________________.

a) amphiphilic

b) hydrophobic

c) hydrophilic
d) agoraphobic 

c) pathetic

23. Name this functional group:

a) amino
b) hydroxyl
c) carboxyl
d) phosphate
e) alcohol
24. Polymers of biological molecules are generally produced by so-called ____________________________.
a) hydrolysis

b) condensation reactions
c) esters

d) alcohols

e) deflation

25. The ratio of atoms in all carbohydrates is___________________________.
a) H2O2

b) CH2O
c) PO4

d) H2O

e) COOH
26. The disaccharide composed of glucose and fructose is called _____________________.

a) maltose
b) lactose
c) amylose
d) sucrose
e) galactose  
27. An example of a polysaccharides is:

a) cellulose
b) DNA 

c) RNA

d) protein
e) linoleic acid


28. Lipids include _____________________________.
a) phospholipids
b) steroids
c) triglycerides

d) a and b
e) a, b, and c
29. Triglycerides consist of a three carbon alcohol (glycerol) bonded to ____________________.
a) a galactose and a glucose
b) a glucose and a fructose
c) four fused rings of carbon atoms


d) three fatty acids

e) two fatty acids and a phosphate

30. Steroids are composed of ____________________________.

a) a galactose and a glucose
b) a glucose and a fructose
c) four fused rings of carbon atoms


d) three fatty acids

e) two fatty acids and a phosphate

31. Abuse of synthetic anabolic steroids is dangerous as it results in __________________.
a) a rise in LDL (low density lipoprotein)
b) a fall in HDL (high density lipoprotein)  


c) liver damage

d) changes to heart structure

e) all of these
32. Name this type of molecule:
a) amino acid
b) nucleic acid
c) linoleic acid
d) ribonucleic acid
e) carbohydrate 

33. Because of the name of the bond linking the subunits of a protein, these polymers are also called_______________.

a) nucleic acid
b) ribonucleic acid  
c) polysporin
d) polypeptide
e) polysaccharide

34. The primary structure of a protein refers to________________________________.

a) the age of its constituent parts 
b) the number of its subunits

c) its sequence of amino acids

d) its repeating structures
e) its overall shape 

35. α-helix and β-pleated shape are the two most common types of ________________ protein structure.

a) primary 
b) secondary
c) tertiary
d) quaternary  
e) fiduciary

36. Nucleic acids are polymers of__________________.
a) triglycerides
b) steroids
c) nucleotides
 d) amino acids
e) simple sugars

37. The nucleotides of DNA and RNA differ in that, in RNA, there is no Oxygen attached to the _________________.

a) 1’ carbon
b) 2’ carbon
c) 3’carbon
d) 4’ carbon
e) 5’ carbon

38. The strands of each DNA molecule are held together by Hydrogen bonds between ____________________.
a) A and T
b) G and C
c) U and T
d)  a and b both

e) a, b, and c

39. The two strands of DNA are antiparallel, meaning that, while  ____________________.

a) one stand runs 3’ to 5’, the opposite strand runs 5’ to 3’

b) one stand runs 2’ to 3’, the opposite strand runs 3’ to 2’

c) one stand runs 1’ to 4’, the opposite strand runs 4’ to 1’

d) one stand runs 2’ to 4’, the opposite strand runs 4’ to 2’

e) one stand runs 3’ to 4’, the opposite strand runs 4’ to 3’

40. What instrument most advanced the understanding of cell structure and function?
a) microscope
b) probe
c) pasteur pipette
d) bunsen burner
e) petri dish

41. The cell theory was first proposed by ___________________________.

a) Robert Hooke

b) Rudolf Virchow 
c) S.J. Singer 

d) Louis Pasteur

e) Barry Marshall

42. According to the cell theory, all cells arise from __________________________________.
a) conditions favorable for life      b) the ocean     c) moist terrestrial habitats
d) pre-existing cells                        e) either b or c 
43. Pasteur won a prize from the French Academy of Science in 1862 when he showed that a broth remained sterile if ________________________.

a) continuously boiled 
b) kept in a swan necked flask
c) strained through flannel

d) frozen 

e) evaporated to dryness

44. All cells are surrounded by a cell membrane composed primarily of ___________bilayer.

a) protein
b) nucleic acid

c) triglyceride
d) cholesterol
e) phospholipid 

45. Almost all cells are too small to see. This seems to be because as a cell gets large _____________.

a) electrostatic interactions repel larger cells  
b) the nucleus loses becomes too large

c) predators can see larger cells 


d) both a and b

e) molecular transport is limiting due to a decreasing surface to volume ratio

46. Prokaryote cells include those of  __________________________.

a) bacteria and archaebacterial

b) plants and fungi
c) animals and plants

d) b and c



e) a, b, and c

47. Prokaryote cells are distinguished from Eukaryote cells by the absence of  _____________.
a) a cell membrane
b) DNA

c) cytoplasm
d) proteins
e) a nucleus
48. The nucleus is surrounded by ______________________________. 

a) the nucleolus


b) chromatin

c) the nuclear membrane

d) the nuclear envelope

e) ribosomes

49. The two types of Endoplasmic Reticulum (ER) include____________________

a) the Rough ER and the Clear ER
b) the Rough ER and the Smooth ER
c) the Clear ER and the Smooth ER
d) the Phospholipid ER and Protein ER

e) Transitional ER and the Passage ER

50. The release of insulin by exocytosis is stimulated in pancreatic islet cells by receptor binding of _____.

a) glucose
b) polysaccharide
c) tryglyceride
d) polypeptide
e) nucleic acid 
